Accrual Accounting Requires Adjusting Entries
I. Periodically (monthly, quarterly, and/or annually) adjusting entries are required when accrual basis accounting is used.
a. Adjusting entries ensure all transactions and events are recorded in compliance with the matching principle.

b. The matching principle requires revenues and expenses to be properly matched in the same time period.

i. Once revenue has been recognized in an accounting period, expenses incurred to generate that revenue need to be recorded in the same accounting period.
ii. Revenue and expense are recorded when events take place, whether cash has been paid/received or not.

II. Adjusting entries are ‘internal’ transactions.  They are adjustments to the balances in existing accounts and do not result from an exchange with an outside party.  Some common adjusting entries are required in order to:
a. Record a variety of expenses that result from allocating prepaid assets over time

i. Example:  Property insurance premiums are paid for an entire year, in advance.  When the premium is paid the transaction is recorded as: decrease Cash and increase Prepaid Expense (a current asset).  Each month a portion of this prepaid expense is ‘used up’.  The matching principle guides us to make an adjusting entry each month to decrease Prepaid Expense and increase Insurance Expense for 1/12 of the total premium. 

b. Recording depreciation expense that results from using buildings, equipment, and other depreciable assets over time

i. This adjusting entry allocates the historical cost of depreciable assets to depreciation expense, thereby matching the cost of the asset to revenue over the estimated useful life of the asset.
c. Allocating periodic interest expense appropriately

i. Interest on loans, bonds, notes, etc. may be payable on a quarterly, semiannually or annual basis that differs from the accounting period.  When this happens, interest expense for periods may be misstated unless an adjusting entry is made.  A common interest adjusting entry is to record interest expense that hasn’t been paid.  Example:  Bonds carry interest payments to be made every 6 months.  Each month prior to paying this an adjusting entry would be made to record the interest expense incurred but not yet paid.  That would be recorded as: increase accrued interest payable – a liability; and increase interest expense.  The result is liabilities increase and equity decreases by the same amount.

d. Adjusting liabilities for expenses that have been incurred but not yet paid

i. There are often expenses that have been incurred at the end of an accounting period that haven’t been paid.  These need to be “accrued” so that the expenses incurred in generating the revenue of the period are not understated, thereby overstating net income.

1. If employee wages earned haven’t been paid – payday isn’t for another week or so – this wage expense should be “accrued”.  This is done by increasing accrued wages (a liability) and increasing wages expense. 

e. Adjusting liabilities for revenue that has been paid in advance but not yet earned

i. There may be times when customers pay for goods or services in advance of receiving those goods or services.  When payments for sales are received in advance of having earned the revenue, the revenue recognition principle guides that this is recorded as a liability by increasing deferred revenue – a liability – and increasing cash for the payment.
ii. When, in a later accounting period, the goods or services are delivered to the customer and the revenue is earned, an adjusting entry is required to recognize the revenue.  This adjusting entry decreases deferred revenue – eliminates the liability – and increases revenue or sales.

III. ‘Closing the books’ is a process that is completed at the end of each fiscal year.

a. All revenue and expense accounts are zeroed out and transferred to Retained Earnings.

i. Revenue accounts are decreased by the balance in the account, and Retained Earnings is increased by that same amount.

1. This effectively transfers the revenue amounts to Retained Earnings – Revenue increases Retained Earnings

ii. Expense accounts are also decreased by the balance in the account, and Retained Earnings is decreased by that same amount

1. This effectively transfers the expense amounts to Retained Earnings – Expense decreases Retained Earnings

b. The closing process allows the firm to begin the next fiscal year with zero balances in the revenue and expense accounts so that this information can be collected for one fiscal year at a time.

i. Closing the books is like the end of the game where the final score becomes part of the historical statistics (revenue-expense=net income transferred to Retained Earnings), the score is reset to zero (Revenue and Expense account balances reset), and a new game begins (a new fiscal period where revenue and expense are accumulated).

c. Remember that Retained Earnings is an Equity account.  The balance in this account and all other asset, liability and equity accounts are carried forward from year to year and are NOT zeroed out.  Only revenue and expense (the income statement accounts) are zeroed out at the end of the year.

